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LRI | AEoRRME | SRR | GEAfRf | GBS | SBefR | AETARIN | ESERM | HPosRR
(GHEIER)
SEE )T 7 277 VA (t=6.0cm) — — — 18.0 16.5 16.5 18.0 16.5 15.0 m 100.5 |"EHE(=t)
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1 +T &I (BB ED)
Vo= 0500 X 0500 x 0330 x 3 = 0.25 m°

A (W) (AEH)

V = 0500 X 0500 X 0.330 X 3 = 0.25 3
2. A%k T S RRG) W
(BEEHE) L o= (0500 X 3) X 12 t=6cm = 18.00 m
G L o= (0500 X 3) X 3 t=3cm = 450 m
S EE R A
(BEEE) L = 0500 X 0.500 X 12 t=6cm = 3.00 12
EE) L = 0500 X 0500 X 3 t=3cm = 0.75 12
R
(BEEER) L = 3.000 X 0.060 t=6cm = 0.18 13
BEED L = 0.750 X 0.030 t=3cm = 0.02 1p®
Vo= 0.20 13
ARGy
(EEEER) L = 3.000 X 0.060 t=6cm = 0.18 13
BEED L = 0.750 X 0.030 t=3cm = 0.02 1p®
Vo= 0.20 13
1HIRALAS
(HEE) L = 2.300 X 0.010 X 0.060 X 18.000 t=6cm = 0.025
GREE) L = 2.300 X 0.010 X 0.030 X 4.500 t=3cm = 0.003 m?
HLETE IR
(BEEE) L = 0500 X 0.500 X 12 t=6cm = 3.00 12
FEE) L = 0500 X 0500 X 3 t=3cm = 0.75 12
3. AT RL—r 2T 7 2 240~350H
HES N o= 12 = 12 %1
HaEE Noo= 3 = 3 #H

EN = 15 #H



4. 7V X T NFa—T ¢25

HAOEES A-A L = 3.59 = 3.590 m
B-B L = 2260 = 2.260 m
Cc-C L = 1.690 = 1.690 m
D-D L = 1.130 = 1.130 m
E-E L = 0.250 = 0.250 m
XL = 8.920 m
B A-A L = 3.710 = 3.710 m
L L = 2.740 = 2.740 m
M L = 2600 = 2.600 m
N L = 2450 = 2.450 m
0 L = 2.160 = 2.160 m
p L = 2020 = 2.020 m
Q L = 1.880 = 1.880 m
R L = 1.590 = 1.590 m
S L = 1.450 = 1.450 m
T L = 1.300 = 1.300 m
U L = 1.020 = 1.020 m
\Y% L = 0.880 = 0.880 m
XL = 23.800 m
5. [EE VP25A
HRE S A-A L = 0.100 = 0.100 m
E-E L = 0.100 = 0.100 m
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X
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0.222 )

X 2
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0.000120 1®

1.728 kg

0.000114 1®

0.410 kg
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2. A%k T S RRG W
(BEEHE) L o= (0500 X 3) X 11 t=6cm = 16.50 m
GFEE) L o= (0500 X 3) X 3 t=3cm = 450 m
S EE R A
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TR T
(BEEER) L = 2.750 X 0.060 t=6cm = 0.17 3
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2V = 0.19 m3
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1@ PL 198« 6 100 47.10 0.93 0.9 HDZ55
1@ PL 177% 6 100 47.10 0. 83 0.8 HDZ55
212w, UNUT|BN M 16% 50 0. 162 0.32 HDZ35
212w, UNUT|BN M 12% 40 0. 075 0.15 HDZ35
4]2W, UNUT [BN M 12% 35 0.071 0.28 HDZ35
HDZ35 0.8 | BN kg/fH
HDZ55 4 @ kg/#
B 3@ HDZ35 2 BN
HR5E 3@ HDZ55 12 ®
HDZ35 W = 2 kg
HDZ55 >W = 12 kg
10. FEsEES TARFMNERIEAM  HEAEE = 1200 kg/m’
2Z57KL—y V= ( 0.050 %x x / 4 X 0234 )
- (0043 2x x© / 4 X 0234 ) = 0.000120 p*
HIE W = 0.000120 X 1200 X 11 = 1.584 kg
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(BEEER) L = 2.750 X 0.060 t=6cm = 0.17 3
BEED L = 0.500 X 0.030 t=3cm = 0.02 1p®
Z\/ = 019 m3
ARGy
(BEEER) L = 2.750 X 0.060 t=6cm = 0.17 3
B5EED L = 0.500 X 0.030 t=3cm = 0.02 1p®
Z\/ = 019 m3
1B
(HEE) L = 2.300 X 0.010 X 0.060 X 16.500 t=6cm = 0.023
REED L = 2.300 X 0.010 X 0.030 X 3.000 t=3cm = 0.002 mp?
HLETE IR
(BEEE) L = 0500 X 0.500 X 11 t=6cm = 2.75 2
FEE) L = 0500 X 0500 X 2 t=3cm = 0.50 12
3. AT RL—r 2T 7 2 240~350H
HEES N o= 11 = 11 %2
HEE N o= 2 = 2
>N = 13 %1
4, 7V X T NFa—T ¢25
HAE R L = 3.850 X 2 = 7.700 m
HEE PoMEM L = 5.480 = 5.480 m
" PefE L = 4.160 = 4.160 m

XL = 17.340 m
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5. B VP25A
HEES PSKEM L = 0.100 = 0.100 m
P6FER 1. = 0.100 = 0.100 m
>L = 0.200 m
6. Frax X Fid A -
HAE R ® N = 1 = 1 &
R P5 | P6 I
ARIEES @ N = 2 + 2 + 2 = 6 1
P6 I
HAE R ® N = 1 = 1 &
AT 7Y A
HAE R N = 2 = 2 &
7. TSV 4k 40X 25 [FEMIES]
A IEER N = 1 X 2 = 2 {#
8. »ILT Yok VP25AM AR
A IEER N = 1 X 2 = 2 {#
9. I A 25X 1X100(7aa7 L3 AEEESS® +5° FLEE)
N = 1 + 6 + 1 = 8
68X 1 X 100(/rar L= AHESS® +5° FLEE)
N = 1 + 6 + 1 = 8
10. BLGFLAT 619  [HraxFr4e A ]
Web
FIEED N = 2 X ( 1 + 6 + 1) = 16 f&FT
11. =27V —hHEIHL ¢ 50~ ¢ 100 L=263
HLE D N = 11 = 11 f&fT
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HIEED N = 2 = 2 f&pT
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ARTE D - BE D

B [Hb4s | M Wi i E x| HrEE | WA EE I S DO
10,@.3|L 130% 130% 9 120 17.9 2.15 2.2 HDZ55
11D PL 728% 6 100 47. 10 3.43 3.4 HDZ55
11® PL 198% 6 100 47. 10 0.93 0.9 HDZ55
11® PL 668% 6 100 47. 10 3.15 3.2 HDZ55
10, @.®[PL 177% 6 100 47. 10 0. 83 0.8 HDZ55
2[2w, uNUT|BN M 16% 50 0.162 0.32 HDZ35
2[2w, uNUT|BN M 12% 40 0.075 0.15 HDZ35
4[2W, UNUT|BN M 12% 35 0.071 0. 28 HDZ35

HDZ35 0.8 | BN kg/#H
HDZ55 6 @ kg/#
HDZ55 4 @ kg/#
HDZ55 6 @ kg/f
AR BB 8@ HDZ35 6 BN
HAIE 1@ HDZ55 6 D
I 6@ HDZ55 24 @
I 1@ HDZ55 6 ®
/NEE 36
Hpz3s =W = = 6 kg
Hpzs5 =W = = 36 kg
13. FesEES TARFMNERIEAM  HEACEE = 1200 kg/m’
257RL—y Vo= (0050 *x & / 4 X 0.234 )
- (0043 *x = / 4 X 0234) = 0.000120 13
HUETS W = 0.000120 x 1200 X 11 = 1.584 kg
vV o= ( 0.050 %x x / X 0.222 )
- ( 0.043 ’x gz / X 0.222 ) = 0.000114 13
HAE W = 0.000114 x 1200 X 2 = 0.274 kg

14, SRFHERA (m 70 —RNHEIFLE R R b - T 1)

HUET A = 0500 X 0500 x 11 X 2 = 5.5 m?
HAE A = 0500 X 0500 X 2 X 2 = 1.0 m?
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1 +T &I (BB ED)
Vo= 0500 X 0500 x 0.330 X 4 = 0.33

A (W) (AEH)

V = 0500 X 0500 X 0.330 X 4 = 0.33 13
2. A%k T S RRG) W
(BEEHE) L o= (0500 X 3) X 12 t=6cm = 18.00 m
G L o= (0500 X 3) X 4 t=3cm = 6.00 m
S EE R A
(BEEE) L = 0500 X 0.500 X 12 t=6cm = 3.00 12
FEE) L = 0500 X 0.500 X 4 t=3cm = 1.00 2
R T
(BEEER) L = 3.000 X 0.060 t=6cm = 0.18 13
(FEER) L = 1.000 X 0.030 t=3cm = 0.03 1p®
2V = 0.21 m3
ARGy
(EEEER) L = 3.000 X 0.060 t=6cm = 0.18 13
(FEER) L = 1.000 X 0.030 t=3cm = 0.03 1p®
2V = 0.21 m3
1HIRALAS
(HEE) L = 2.300 X 0.010 X 0.060 X 18.000 t=6cm = 0.025
CGREE) L = 2.300 X 0.010 X 0.030 X 6.000 t=3cm = 0.004 m?
HLETE IR
(BEEE) L = 0500 X 0.500 X 12 t=6cm = 3.00 12
FEE) L = 0500 X 0.500 X 4 t=3cm = 1.00 p2
3. AT RL—r 2T 7 2 240~350H
HES N o= 12 = 12 %1
HEE N = 4 = 4 #1
>N = 16 %1
4. 7VF T NFa—T ¢25
HEE L = 3.850 X 4 = 15.400 m

5. Brax R R
ARTE D @ N = 4 = 4



INATy7FE

SR N = 4 = 4 &
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68X 1X100(Z7arr L = Al iE55° +5° FJE)
N = 4 = 4 {#
7. BIG AL 019  [HraxFrse A
Web
BT N = 2 X 4 = 8 & FT
8. a7 —RHIFL $ 50~ ¢ 100 1.=263
HOEY N = 12 = 12 f&AT
$ 50~ ¢ 100 [.=242
HIEED N = 4 = 4 AT
9. VR HLEN A % B 5
HAE R - BLIE
B | 84| ME Wr i EX | BAEE | BAEE & | EE
1|® L 130% 130% 9 120 17.9 2.15 2.2 HDZ55
1|® PL 198% 6 100 47.10 0.93 0.9 HDZ55
1|® PL 177% 6 100 47.10 0.83 0.8 HDZ55
2]2w,UNUT|BN M 16% 50 0.162 0.32 HDZ35
2]2w,UNUT|BN M 12% 40 0.075 0.15 HDZ35
412w, UNUT|BN M 12% 35 0.071 0.28 HDZ35
HDZ35 0.8 | BN kg/#H
HDZ55 4 | @ kg/fH
HRIE D 4@ HDZ35 3 | BN
SR 4@ HDZ55 16 |®
HDZ35 W = = 3 kg
HDZ55 >W = = 16 kg
10. FEsEES TARFMNERIEAM  HEAEE = 1200 kg/m’
257KL—y V. = ( 0050 2x x / 4 X 0.234 )
- ( 0043 *x x / 4 X 0234 ) = 0.000120 1®
HE W = 0.000120 X 1200 X 12 = 1.728 kg
v = ( 0.050 2x n / X 0.222 )
- ( 0.043 2x x / X 0.222 ) = 0.000114 ®
HAEHES W = 0.000114 X 1200 X 4 = 0.547 kg



11. SR

B
B

)

3

3

o o

f
1

A
A

(= 7Y—FHIFLER AR R L+ )
= 0.500 X 0.500 X
= 0.500 X 0.500 X

12
4

X
X

2
2



- PTREI~PSABH - 58

1. +T PEH! (ETR)
V = 0500 X 0500 X 0330 X 3 0.25 3
R ) (ETR)
V = 0500 X 0500 X 0.330 X 3 0.25 3
2. A%k T EHLERR O M
(BEEHE) L o= (0500 X 3) X 11 t=6cm 16.50 m
GFEE) L o= (0500 X 3) X 3 t=3cm 450 m
S EE R A
(BEEE) L = 0500 X 0.500 X 11 t=6cm 2.75 2
BEE) L = 0500 X 0500 X 3 t=3cm 0.75 12
R
(HHH) L = 2.750  x 0.060 t=6cm 0.17
(FEHS) L= 0.750 X 0.030 t=3cm 0.02 m®
>V 0.19 3
ARGy
(BEEER) L = 2.750 X 0.060 t=6cm 0.17 1p®
(FHEER) L = 0.750 X 0.030 t=3cm 0.02 1p®
>V 0.19 3
1B
(HEE) L = 2.300 X 0.010 X 0.060 X 16.500 t=6cm 0.023
REE) L = 2.300 X 0.010 X 0.030 X 4.500 t=3cm 0.003 m?
HLETE IR
(BEEE) L = 0500 X 0.500 X 11 t=6cm 2.75 2
FEE) L = 0500 X 0500 X 3 t=3cm 0.75 12
3. AT T RL—r 2T 7 2 240~350H
HEES N o= 11 11 #A
HaEE Noo= 3 3 K
N 14 #1
4, 7V X T NFa—T ¢25
HAE R L = 3.850 X 3 11.550 m
I PTFBH L = 5.450 5.450 m
SL 17.000 m
5. HiE VP25A (B HHER]
HAE R L. = 0.100 0.100 m



(o))
I We
o+ ><l+
= &
o
Jm

Sk
2
o
S)

INAT Y7 b
AL

7. TSV /b
HAE

8. VT Yok
HAE

P7 L
N = 1

LU P7 k
N = 3 + 2
N = 3

40X 25 [FEMIES]
N = 1

VP25AH  [AEIHER ]
N = 1

9, I A 25X 1X100(7aa~7 L3 AFEEESS® +5° FLEE)

N = 6

68X 1X100(7a7 L2 LSS +5° FREE)

10. Bl ALEAT
Web

11. =2 7U—hHIFL
HOEY

N
g
g

N = 6

619 DHrsScRra B AR ]

¢ 50~ ¢ 100 L=263
N = 11

¢ 50~ ¢ 100 L=242
N = 3

I

5 1A

3 1A

I

I

6

6



12. FRRLHESH A B

ARTE D - BE D

B |4 | HMTE Wr A B | B{iE&E | HnEE 2= [ B
110, |L 130% 130% 9 120 17.9 2.15 2.2 HDZ55
11D PL 808% 6 100 47.10 3.81 3.8 HDZ55
11® PL 198% 6 100 47.10 0.93 0.9 HDZ55
110,® |PL 177% 6 100 47.10 0.83 0.8 HDZ55
2|2W,UNUT[BN M 16% 50 0.162 0.32 HDZ35
2|2W,UNUT[BN M 12% 40 0.075 0.15 HDZ35
4]2w,UNUT|BN M 12% 35 0.071 0.28 HDZ35

HDZ35 0.8 | BN kg/#
HDZ55 7 | D kg/fH
HDZ55 4 | @ kg/fH
AR S 6@ HDZ35 5 |BN
IRTEER 1@ HDZ55 7 |@©
/i 5@ HDZ55 20 | @
/NE 27
HDZ35 =W = 5 kg
HDZ55 W = 27 kg
13. FesEES TARFMNERIEAM  HEACEE = 1200 kg/m’
AT TR — Vv = ( 005 2x z / 4 X 0234 )
- ( 0043 *x = / 4 X 0234 ) = 0.000120 m®
HLETS W = 0.000120 Xx 1200 X 11 = 1.584 kg
vV o= ( 0.050 2x g / X 0.222 )
- ( 0043 2x x / X 0.222 ) = 0.000114 ®
SR W = 0.000114 X 1200 X 3 = 0.410 kg
14. BRHERA (FZ 77U —REIFLEB R Il b - T 1D
HLETES A = 0500 X 0.500 X 11 X 2 = 5.5 m?
SR A = 0500 X 0.500 X 3 X 2 = 1.5 m?




- PSFEII~A2ME 5 : I

1 +T &I (BB ED)
Vo= 0500 X 0500 x 0330 x 3 = 0.25 m°

A (i) (AEH)

V = 0500 X 0500 X 0.330 X 3 = 0.25 3
2. A%k T S RRG W
(BEEHE) L o= (0500 X 3) X 10 t=6cm = 15.00 m
GFEE) L o= (0500 X 3) X 3 t=3cm = 450 m
S EE R A
(BEEE) L = 0.500 X 0.500 X 10 t=6cm = 2.50 12
BEE) L = 0500 X 0500 X 3 t=3cm = 0.75 12
R
(BEEER) L = 2.500 X 0.060 t=6cm = 0.15 3
(B L= 0.750 X 0.030 t=3cm = 0.02 m?°
Vo= 0.17 3
ARGy
(BEEER) L = 2.500 X 0.060 t=6cm = 0.15 3
(FHEER) L = 0.750 X 0.030 t=3cm = 0.02 1p®
Vo= 0.17 3
1B
(HEE) L = 2.300 X 0.010 X 0.060 X 15.000 t=6cm = 0.021 3
CGREED L = 2.300 X 0.010 X 0.030 X 4.500 t=3cm = 0.003 m?
HLETE IR
(BEEE) L = 0500 X 0.500 X 10 t=6cm = 2.50 12
FEE) L = 0500 X 0500 X 3 t=3cm = 0.75 12
3. AT RL—r 2T 7 2 240~350H
HEE N = 10 = 10 #H
HaEE Noo= 3 = 3 #H
SN = 13 %1
4. 7V X% T NFa—T ¢25
HAE R L = 3.850 X 3 = 11.550 m
HEE P8KEM L = 5.480 = 5.480 m
I A2ES L = 4.790 = 4.790 m

XL = 21.820 m



f]

f]

5. B VP25A  [H&I - fE 55 ]
HAE R L = 0.100 X 2
6. Hrax R4 B .
HAE R O N = 1
EHiDk P8 I
HAE R ® N = 3 + 2
A2l
HAE R ® N = 1
PSA T 7
HAIETD N = 3
7. TSV 4k A0X25H [FEH-EEE
HAE N = 1 X 2
8. NILT YAk VP25AH  [FEH-FEHEE
HAIE N = 1 X 2

9. 94 25X 1X100(Z7aa71L = AFHEESS +

N = 1 + 7 +

68X 1 X 100(Zaa 'L = AR EESS® +

A2k
2

N = 1 + 7 +

10. BLGILAT ¢ 19 U Fis B a1 6
Web
HAEES N = 2 X 9

11. =2 7U—hHIFL ¢ 50~ ¢ 100 L=263
HLETES N = 10

6 50~ ¢ 100 1.=242
SR N = 3

SR

f]

0.200 m

I

7 A

1 &

3 1A

2 1A

2 1A

9 &

9



12. FRRLHESH A B
ARTE D - BE D

BHC | A4 | MR Wr 1A x| HfrEsE | HaEE o b0
1D,2.0]L 130% 130% 9 120 17.9 2.15 2.2 HDZ55
1D PL 808% 6 100 47.10 3.81 3.8 HDZ55
1@ PL 198% 6 100 47.10 0.93 0.9 HDZ55
1{® PL 798% 6 100 47.10 3.76 3.8 HDZ55
1{D,2.@[PL 177% 6 100 47.10 0.83 0.8 HDZ55
2|2w,UNUT|BN M 16% 50 0.162 0.32 HDZ35
2|2w,UNUT|BN M 12% 40 0.075 0.15 HDZ35
4]2w,UNUT|BN M 12% 35 0.071 0.28 HDZ35

HDZ35 0.8 [ BN kg/#H
HDZ55 7 | D kg/#H
HDZ55 4 | @ keg/fH
HDZ55 7 | ® kg/fH
HRE D 9@ HDZ35 7 | BN
HRIE 1@ HDZ55 7 1O
” 7@ HDZ55 28 1@
I 1@ HDZ55 T 1®
/NG 42
HDz35 =W = 7 kg
HDzss =W = 42 ke
13. FesEES TARFMNERIEAM  HEACEE = 1200 kg/m’
257RL—r V. = ( 0.050 *x x / 4 X 0234 )
- ( 0043 *x = / 4 X 0.234 ) = 0.000120 *
HLTE T W = 0.000120 X 1200 X 10 = 1.440 kg
v o= ( 005 *x x / X 0.222 )
- ( 0043 2x o / X 0.222 ) = 0.000114 p*
HRIE S W = 0.000114 x 1200 X 3 = 0.410 kg
14. $efRa (= Z7)—MEIFLEB R IR - T ifD)
HLTE A = 0500 X 0500 x 10 X 2 = 5.0 m?
HRIE S A = 0500 X 0500 X 3 X 2 = 1.5 p?




PEKEHRETEHFWD
4 Fr s i
oAl PCAE X [H] AP [ fC AR A7 X 3P [ e A A7 X ] HAL [ & F i &
Bk Al~P1 | P1~P2 | P2~P3 | P3~P4 | P4~P5 | P5~P6 | P6~P7 | P7~P8 | P8~A2
IR | EomRM | FESRMN | EARRE | PESTRMN | FHORRhd | FETARM | HESFRAd | HEofRM

DS I ES VP200A — — — 188.4 m 188.4

I VP125A — — — 12.8 — — — — — m 12.8
B VP200A — — — 155.1 — — — — — m 155.1 404
I VP125A — — — 6.2 — — — — — m 6.2 |24
T VP200A — — — 12 — — — — — | M| 12.0

I VP125A — — — 2 — — — — — | M| 2.0
{5 JA-2 - - - 3 - - - - — | @ 3.0
e Fid B S1 — — — 95 — — — — — | f{A 95.0

4 S2 — — — 2 — — — — — | & 2.0

4 S3 — — — 2 — — — — — | & 2.0

4 S4 — — — 1 — — — — — | & 1.0

U S8 — — — 1 — — — — — 1 1.0

U S9 — — — 1 — — — — — 1 1.0

I S10 — — — 1 — — — — — | M| 1.0
yv 7 VP200A] — — — 3 — — — — — | M| 3
Bl 55 LT & 19UHTE Sk B — — — 184 — — — — — | AT 184
a7V —hEIHL | ¢ 15DHER ScFse H ] — — — 44 — — — — — | AT 44
VT ) A% H HDZ35 — — — 288 — — — — — | Kg 288

I HDZ55 — — — 1192 — — — — — | Kg 1192
K IE R VP125A — — — 20.1 — — — — — m 20
SRR B - - — — 6 — — - - — | 4 6 it/
—IRF S AR A SS41 — — — 46 — — — — — Kg 46 | »
i SR B — - — — 6 — — - - — | % 6




PEAKERR i TR (2)

% Fr P =
g PCHE X [ AP R e AT X [ 3PS [ o AR AT X 1] B A& F i &
O Al~P1 P1~P2 P2~P3 P3~P4 P4~P5 P5~P6 P6~P7 P7~P8 P8~A2
LRI | AEofRM | SRR | GEafRmd | GBS | SBefR | AETARIN | SRR | HPORRM
B SS41 — — — 70 — _ _ _ _ Ke 70
B L ) — — — 423.7 [E5BRRI~ IR O b BB m NS bk THER R e 424
i Pkt e 5 — — — 57.8 — — — — — | #n® 58




PEAKE R E T (A ERe AT X [H : P3FGIH ~PARGH [ 53 - 55422 1)
- P3G ~PAREH : 548X

1. AR VP200A
B L = 72437 +  0.800 = 73.237 m
REEET A L = 24.227 4+ 0.900 = 25.127 m
HEH L = 72.041 +  0.800 = 72.841 m

P3fE M L = 0.900  +  6.643 - 3.065 +

(& 20D 1.000 +  3.624 4+ 1916 = 17.148 m
XL = 188.353 m

VP125A
BHGERISRE L = 2.332 + 0.500 = 2.832 m
L = 1.753 +  0.500 = 2.253 m
HE L = 2.305 +  0.500 = 2.805 m
L = 1.726  +  0.500 = 2.226 m
L = 1.147 +  0.500 = 1.647 m
L = 0.568 +  0.500 = 1.068 m
XL = 12.831 m

2. HE VP200A
HRE S @ L = 4200 X 16 = 67.200 m
@ L = 3.600 1 = 3.600 m
® L = 3.807 1 = 3.807 m
BEMEERES O L o= 4.200 X 3 = 12.600 m
@ L = 3400 X 1 = 3.400 m
HLEE @ L = 1.000 1 = 1.000 m
@ L = 2.800 1 = 2.800 m
L = 1.581 1 = 1.581 m
® L = 4200 x 11 = 46.200 m
@ L = 3400 X 2 = 6.800 m
P3G @ L = 1.916 1 GRessit) = 1.916 m
® L = 4.200 1 ¢ = 4.200 m
40 A SL = 155.104 m

VP125A
HLEE ® L = 2.409 = 2.409 m
® L = 1.830 = 1.830 m
@ L = 1.251 = 1.251 m
L = 0.672 = 0.672 m

2 A(4m/ARE2ARNT) L = 6.162 m



3. T VP200A
HAIETD L2 N = 1 1
HGEBER L3 N = 1 1 {3
L6 N = 1 1 &
L7 N = 1 1 &
HIE TS L5 N = 1 1 &
L6 N = 1 1 &
L7 N = 1 1 &
L8 N = 1 1 &
L9 N = 1 1 &
P3fEIIES L4 N = 1 1
(& s AR 5 N = 1 1 18
L6 N = 1 1 &
=N 12 {#
VP125A
BHESERELI2 N = 1 &
LI3 N = 1 1
=N 1
4. e e JA-2
HAIETD EX2 N = 1 1
BEEBRIEX2 N = 1 1
HIE TS EX2 N = 1 1 &
=N 3 i
5. Frax X Fis A
HAIETD SI N = 39 39 {#
BEEBERE ST N = 10 10 &
HE ST N = 37 37 1A
P3G S1 N = 9 (s 9 &
=N 95 i
HIE T S2 N = 1 1 &
P3G S2 N = 1 st 1 &
=N 2 &
HIE T S3 N = 1 1 &
PGS S3 N = 1 st 1 &
=N 2 &
HIE TS S4 N = 1 1 &
HRHLEBERE S8 N = 1 1 &
S9 N = 1 1 &
SI0 N = 1 1 &



6. ¥y VP200A i
HRE S N = 1 1
REGEEESREE O ON = 1 1
HLIE D N = 1 1 &
=N 3
7. BLG AL 019 [Frax ke ]
Web
HRE S N = 2 X 39 78 T
BEGEBIREE O ON = 2 X 10 + 2 X 3 (S8-S10) 26 fHT
HE D N = 2 X 37 + 2 X 3 (52-54) 80 &
SN 184 57T
8. 7Y —hHIlHL 15 [EraSchie H  fmi]
P3G AR N = 4 X 11 (&s) 44 T
SN 44 T
9. VRS Ay H
MO HERIEELY (AR
(BERHAH 42 2 (S1)
B HDZ35 W = 0 + 117 117 kg
WHEBERE ) W = 6 + 30 + 3(S8S10) 39 kg
HIEES " W = 8 + 111 + 3(S2-S4) 122 kg
P& I W = 0+ 0 + 10(S1-S3) 10 kg
(K D)
W 288 kg
(BERHAH 42 2 (S1)
B HDZ55 W = 0 + 468 468 kg
BEEEERE ) W = 0 + 110 + 39 (S8-S10) 149 kg
HLE D N W = 0 + 444 + 43 (52-S4) 487 kg
P& RAIED ” W = 0+ 0 + 88(S1-S3) 88 kg
(K 158D)
SW 1192 kg
10, B4 T mEs [mEdy LXK ER)ES M)
B A = 1.40 X  73.60 X 2 206.1  Fpm®
REDEBESER A = 1.30 X  25.85 33.6  Hm?
HE D A = 1.25 X 73.60 X 2 184.0  Hm?
SA 423.7  Hpm®
Pk e 45
P& RAIED A = 1050 X 5.50 (R 57.8  Hhm?
TA 57.8  $#pm’



11, WERKERE

VP125A(4.464kg/m)

HRELIE B L = 3.350 X 9 = 6.700 m
HE L = 3.350 X 4 = 13.400 m
L= 20.100 m
M = 89.73 kg
12. —BHfE 4R IV = 0.06 m3
BHGERERE S N = 1 X = 2 1
HIE TR N = 1 X 4 = 4 #H
N = 6 Hi
13, —FER A S SS41
SRR SR G R ELY
HHEESEREFB W = 10 = 10 kg
HIJEER FB W = 36 = 36 kg
ZW = 46 kg
14. kR4 A
BHGERERES S N = 1 X = 2 1
HIJEER N = 1 X 4 = 4 #H
N = 6 Hi
15. s afst B & SS41
SR EE R ELY
HEESEREFB W = 10 = 10 kg
BN W = 8 = 8 kg
W = 18 kg
HIJEER FB W = 36 = 36 kg
BN W = 16 = 16 kg
SWoo= 52 kg
SW = 18 + 52 = 70 kg
2V = 70 / 113 / 1,000 = 0.062 m3

& )BT DL EL.13t/m3



Fdi BERHEE

M R (A7 mm,kg)
HEKERRE T B4 B P3-PAR : 5488 AEE6 S1
B M M Wr i £ HfrEs HadEs & ME o BR O OES
1 L 150% 150% 12 150 27.30 4.10 455400 AL HDZ55
1 PL | 158% 6 827 47.10 4.00 455400 65 1.  HDZ55
2 PL | 100% 6 449 47.10 2.11 455400 AL HDZ55
2 2w,unuT BN M 16% 50 0.162 1 SS400 A HDZ35
4 2w,unuT BN M 12% 40 0.075 1 SS400 A HDZ35
4 2w,unuT BN M 12% 35 0.071 1 SS400 A HDZ35
HDZ35 3 kg
HDZ55 12 kg
39 @ HDZ35 (&b 117 kg
39 @ HDZ55 () 468 kg
P3-P4ft] #IEHD g=wein) 585 kg
PEAKERE T B4 H P3-PARM : SHARRR A HE 5 S (BER L 4 2
B M M Wr A £ HfyEs HadEs & ME o BR O OES
2 2w,unut BN M 12% 45 0.08 155400 A HDZ35
2 2w,uNUT BN M 12% 40 0.075 1 SS400 A HDZ35
2 2w,unuT BN M 12% 35 0.071 1 SS400 A HDZ35
HDZ35 3 kg
2 @ HDZ35 (&b 6 kg
P3-PAM] 3 HE R U HED 6 kg (BEER T4 E)
PEKE R E L. B4 B P3-PARE : 54250 ARELEBE SR S1
B M4 M Wr A £ HfyEs HadEs & ME o BR O OES
1 L 150% 150% 12 150 27.30 4.10 455400 L HDZ55
1 PL | 158% 6 629 47.10 2.81 355400 60 N T.  HDZ55
2 PL | 100% 6 449 47.10 2.11 455400 L HDZ55
2 2w,unuT BN M 16% 50 0.162 1 SS400 A HDZ35
4 2w,unuT BN M 12% 40 0.075 1 SS400 A HDZ35
4 2w,unuT BN M 12% 35 0.071 1 SS400 A HDZ35
HDZ35 3 kg
HDZ55 11 kg
10 @ HDZ35 Ch&Et) 30 kg
10 @ HDZb55 () 110 kg
P3-PAH] A HLEEL U S1 &ih) 140 kg




MR

(HAZ :mm kg)

PEKERE L B4 B P3-PAR : 5425 ARELE B AR S8-S10

B 4 pE Wr S H{/EE HiLERE B OME wh BE WS
3 L 150% 150% 12 150 27.30 4.10 12 55400 AL HDZ55
1 PL | 392% 6 629 47.10 4.65 5 55400 40 i . HDZ55 S8
1 PL | 338% 6 629 47.10 4.51 5 55400 45 il . HDZ55 S9
1 PL | 278% 6 629 47.10 4.12 455400 50 AL, HDZ55 S10
6 PL | 100% 6 449 47.10 2.11 13 SS400 L HDZ55
6 2w,unuT BN M 16% 50 0.162 1155400 A HDZ35
12 aw,unuT |[BN M 12% 40 0.075 1155400 A HDZ35
12 aw,unut BN M 12% 35 0.071 1155400 A HDZ35
HDZ35 (NED) 3 kg
HDZ55 Cn) 39 kg
P3-P4 ] A*HLEEE S S8-S10 &) 42 kg
BEACERRE T T4 H P3-PART : SH42EM BE P (RERR Ui 4 2)
B 4 pE Wr £ H{/ERE HLER B OME wh BE WS
4 aw,uNnutT BN M 12% 45 0.08 1 SS400 A HDZ35
4 sw,unuT BN M 12% 35 0.071 1155400 A HDZ35
HDZ35 2 kg
4 @ HDZ35 (NED) 8 kg
P3-PAM] HIEH (HED 8 kg (BEER I+ E)
HEKE R E T B4 B P3-PAR : 54480 BLE SR S1
B 4 pE Wr £ H{/EE HiLER B OME wh BE WS
1 L 150% 150% 12 150 27.30 4.10 455400 AL HDZ55
1 PL | 158% 6 827 47.10 4.00 455400 65 1.  HDZ55
2 PL | 100% 6 449 47.10 2.11 455400 L HDZ55
2 2w,unuT BN M 16% 50 0.162 1155400 A HDZ35
4 sw,unuT BN M 12% 40 0.075 1155400 A HDZ35
4 sw,unuT BN M 12% 35 0.071 1155400 A HDZ35
HDZ35 3 kg
HDZ55 12 kg
37 @ HDZ35 (NED) 111 kg
37 @ HDZ55 () 444 kg
P3-P4H HEHS S1 (&) 555 kg




MR

(HAZ :mm kg)

HEKERRE T B4 B P3-PAR: 5485 HEHE S2-S4

B 4 pE Wr S H{/EE HiLERE B OME wh BE WS
3 L 150% 150% 12 150 27.30 4.10 12 55400 AL HDZ55
1 PL | 369% 6 827 47.10 5.75 6 55400 40 . HDZ55 S2
1 PL  318% 6 827 47.10 5.57 6 55400 45 . HDZ55 S3
1 PL | 258% 6 827 47.10 5.53 6 55400 55 M. HDZ55 S4
6 PL | 100% 6 449 47.10 2.11 13 SS400 L HDZ55
6 2w,unuT BN M 16% 50 0.162 1155400 A HDZ35
12 aw,unuT |[BN M 12% 40 0.075 1155400 A HDZ35
12 aw,unut BN M 12% 35 0.071 1155400 A HDZ35
HDZ35 (NED) 3 kg
HDZ55 Cn) 43 kg
P3-PA[#] HEH S2-54 “ah) 46 kg
PEKERRIE T e R P3BIIGK S558) S1-S3
B 4 pE Wr £ H{/ERE HLER B OME wh BE WS
22 PL | 100% 6 459 47.10 2.16 48155400 L HDZ55
18 PL | 100% 6 342 47.10 1.61 29155400 AL HDZ55 Sl
PL | 100% 6 676 47.10 3.18 6 55400 AL HDZ55 S2
PL | 100% 6 554 47.10 2.61 5 55400 L. HDZ55 S3
44 sw,unut |BN |M 12% 40 0.075 355400 A HDZ35
44 canc M 12% 100 0.165 755400 A HDZ35
HDZ35 (NED) 10 kg
HDZ55 Cn) 88 kg
P3ERIGH ARl S1-S3 “ab) 98 kg




FBREEHREE

VA & o= =
AR R

(HAAVT < mm, nif)

PR RRE L I B P3-PAM : 55485 A0EH

B M4 MR Wr £ & wh 2w A A fii &
1 L 150% 150% 12 150 0.09 HDZ55
1 PL,  158% 6 827 65 0.17 HDZ55
2 PL,  100% 6 449 0.18 HDZ55
2 2W,UNIBN M 16% 50 0.01 HDZ35
4 2W,UNIBN M 12% 40 0.01 HDZ35
4 2W,UNIBN M 12% 35 0.01 HDZ35
P3-PAE] A EED
39@ P3-PA[N] A iE
PEKERE T U4 B P3-PAR : g4 B B A (MR RR B 4 B
B HM4 MR Wr £ & wh 2w A A fii &
2 2W,UNIBN M 12% 45 0.00 HDZ35
2 2W,UNIBN M 12% 40 0.00 HDZ35
2 2W,UNIBN M 12% 35 0.00 HDZ35
P3-PAR # B8 52 A WER HiLf 42 )
2@ P3-P4f AR EE S R (VR B 4 2D
HEAGE R T B4 B P3-PARY : B4R ArEaE 55 5L S1
B HM4 MR Wr £ & wh 2w A A fii &
1 L 150% 150% 12 150 0.09 HDZ55
1 PL,  158% 6 629 60 0.12 HDZ55
2 PL,  100% 6 449 0.18 HDZ55
2 2W,UNIBN M 16% 50 0.01 HDZ35
4 2W,UNIBN M 12% 40 0.01 HDZ35
4 2W,UNIBN M 12% 35 0.01 HDZ35
P3-P4ff] HREE SR AR S1
10@ P3-P4f A HuEBE RS S1




B EE (B mm, i)

PEKERE L B4 B P3-PAR : S48 AR ELE B AR S8-S10

B WA mE W 1A R & b L BRAG T FH 1 &
3 L 150* 150% 12 150 0.80 0.27 HDZ55

1 PL | 392% 6 629 40| 0.20 HDZ55 S8

1 PL | 338% 6 629 45| 0.19 HDZ55 S9

1 PL | 278% 6 629 50 0.17 HDZ55 S10
6 PL | 100* 6 449 1.62 0.54 HDZ55
6 2W,UNIBN |M 16% 50 0.05 HDZ35
12/ 2W,UNIBN M 12* 40 0.05 HDZ35
12/2W,UNIUBN M 12% 35 0.05 HDZ35

P3-PAf] A B R S8-S10 [ | | | |

PEAKERRE T BT H P3-PAR : 54 B SRR I 4 5

Bk HMa M BT T R & b 2w AT fii 5
4 2W,UNIBN M 12% 45 0.01 HDZ35
4 2W,UNUBN M 12% 35 0.01 HDZ35

P3-P4fH] By F SRR Bl 2 5

4@ P3-PAR HE SRR B4 5D

PKERRE L HfteH P3-PAM : B4R HEES S1

B 4 pE W A £ & b 2fE AL H fii %

1 L. 150% 150% 12 150 0.09 HDZ55

1 PL  158% 6 827 65 0.17 HDZ55

2 PL  100% 6 449 0.18 HDZ55

2 2W,UNIBN M 16% 50 0.01 HDZ35

4 2W,UNIUBN M 12% 40 0.01 HDZ35

4 2W,UNIUBN M 12% 35 0.01 HDZ35
P3-PAf#] HEH S1
37@ P3-P4[f HEHE S1




B EE (B mm, i)

HEKERRE T B4 B P3-PAR: 5448 HEHE S2-S4

B WA mE W 1A R & b L BRAG T FH 1 &
3 L 150* 150% 12 150 0.26 HDZ55

1 PL | 369% 6 827 40| 0.24 HDZ55 S2

1 PL | 318% 6 827 45| 0.24 HDZ55 S3

1 PL | 258% 6 827, 55 0.23 HDZ55 S4
6 PL | 100* 6 449 0.54 HDZ55
6 2W,UNIBN |M 16% 50 0.02 HDZ35
12/ 2W,UNIBN M 12* 40 0.02 HDZ35
12/2W,UNIUBN M 12% 35 0.02 HDZ35

P3-PAR HE T S2-S4 \ \ \ \ \ \ \ \ \

HEKE R E L B4 H P3#EMH S1-S3

Bk HMa M il £ & b A AT fii 5
22 PL  100% 6 459 2.57 HDZ55
18 PL  100% 6 342 1.64 HDZ55 S1

PL  100% 6 676 0.27 HDZ55 S2

PL  100% 6 554 0.22 HDZ55 S3
44 2W,UNIBN M 12% 40 0.08 HDZ35
44 c.avc M 12% 100 HDZ35

P3fEIA S1-S3 [ | | | |




BEMMERHEE
MR (HLAT - mm,kg)

PEKERRE T B4 H P3-PAM : SBARRM A ELE S AU

B 4 pE Wr i EX HfvES BhEe B85 ME o W5
2 FB 100% 6 330 4.710 1.55 3SS41
1 FB 100% 6 354 4.710 1.67 2 5541
4 BN M 12% 40 0.077 1 SS41
2 BN M 12% 30 0.068 1 SS41
4 BN M 12% 40 0.077 1 SS41
2 BN M 12% 30 0.068 1 SS41
FB 5 kg
BN 4 kg
2 @FB (IED 10 kg
2 @ BN (n) 8 kg
P3-PAM] 3 HE R U (&Eb 18 kg
M R (HANZ : mm, kg)

PR RRE L BB P3-PARM : 54058 HEH

B 4 pE Wr i EX HfvES BhEe B85 ME o W5
2 FB 100% 6 330 4.710 1.55 3SS41
2 FB 100% 6 670 4.710 3.16 6 SS41
4 BN M 12% 40 0.077 1 SS41
4 BN M 12% 30 0.068 1 SS41
4 BN M 12% 40 0.077 1 SS41
4 BN M 12% 30 0.068 1 SS41

FB 9 kg

BN 4 kg

4 @ FB (IED 36 kg

4 @ BN (n) 16 kg
P3-PAfH] HIE #Eh 52 kg

Hufs 4 B &) 70 kg




—R R ERHREE
PR

(HALA7 - mm, kg)

BEAKGZE T B4 B P3-PART : 483N AR Bl B 5L
B HM4 M T E S BV EE BN EE B OME o WE
2 FB | 100% 6 330 4.710 1.55 35541
FB | 100% 6 354 4.710 1.67 25541
FB 5 kg
2 @FB INEh) 10 kg
P3-P4[ AR HEE A ED &Eh 10 kg
HEKEHE T BUfT4 B P3-PARY: G485 B
B M4 M T E S BV EE BN EE = OME b HE
2 FB | 100% 6 330 4.710 1.55 35541
2 FB | 100% 6 670 4.710 3.16 6 SS41
FB 9 kg
4 @FB INEh) 36 kg
P3-P4[] HEHR &5 36 kg
Huft 4 B— i s &5 46 kg




